Information

e The final exam dates/times are posted. <— Se€. MM ‘
e A practice problem set is posted. -

e The final exam is comprehensive, but the latter material 1s weighted more
heavily.

e [apiace transforms will be on the final exam, and 1 will provide a formula
sheet.

e Assignment 6 is the last homework assignment.

e Take care of your online quizzes.

e This is the last online class.
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One more example with repeated eigenvalues:
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the augmented matrix is
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the augmented matrix is
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Nonhomogeneous Problems

u'(t):Au(t)+f(t) L

Solution Process: )

1. Get the general solution wu,(t) to u' () = A4 u(?).
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2. Get any "particular solution" u,(7) to u'(t) =4 u(t) +f(¢)
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3. The general solution is u (t) = uy(¢) + u,(?).
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Example: Find the general solution to

@ = u, (1) .
“,

x'=x-3y—¢

y'=-2x+2y+e”

Nete
(
Solues u'= Ay,
. \ e 0 A 1s now
Fiod elgem frSe g 3
_29 2::

The eigenvalues of A are -1 and 4.



the augmented matrix for (A - (-1)[)v=20 1s
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Example: Give the solution to
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Just for something different, we decided to solve
for v2 interms of v1. It really does not matter. The
representative eigenvectors, in either case, will be
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